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April  2013 
 

Fundamental IT Engineer Examination (Afternoon) 
 
 
 
Answers  and  Marks(in blue) 
 
Q1 
 

Subquestion 1 
   a) X AND NOT(Y) + NOT(X) AND Y AND NOT(Z) 3 

 
Subquestion 2 

A   a) AND gate       3 
B   a) AND gate       3 
C   b) OR gate       3 

 
 
Q2 
 

Subquestion 1 
A   f) SUM(e.BasicPay)     2 
B   e) SUM(e.HourRate * a.OTHour * 2)  2 

 
Subquestion 2 

C   a) CASE       2 
D   b) 2 + 2 * 1.3 + (a.OTHour - 4) * 1.5  2 
E   c) a.OTHour > 2 AND a.OTHour <= 4  2 
F   a) 2 + (a.OTHour - 2) * 1.3   2 

 
 
Q3 
 

Subquestion 
A   c) 10       3 
B   d) 41       3 
C   c) 111       3 
D   c) greater than or equal to 35    3 
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Q4 
 

Subquestion 1 
A   b) (33, 3) and (33, 7)     3 
B   c) 3       3 
C   b) 13       2 

 
Subquestion 2 

D   c) Sender’s private key     2 
E   d) Sender’s public key     2 

 
 
Q5 
 

Subquestion 1 
A   e) Program block (2)       2 
B   d) Program block (1)       2 

 
Subquestion 2 

C   d) • Get InputData(ItemCode, PrefType, ComType,   2 
                      Quantity, UnitPrice) EOF(Endfile) 
D   c) • Error ← false       2 
E   d) • Get InputData(ItemCode, PrefType, ComType,   2 
                      Quantity, UnitPrice) EOF(Endfile) 
F   c) (Exist = true) and (UnitPrice < RegPrice)   2 

 
 
Q6 
 

Subquestion 1 
A   a) Triangle[r][c] + SumPaths[r−1][c−1]  4 
B   d) SumPaths[Height][c] > maxval    4 
C   a) m – 1        4 
D   b) MaxPath[1] ← Triangle[1][1]    4 

 
Subquestion 2 

   c) 40        4 
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Q7 
 

Subquestion 1 
A   c) (int**) calloc(rowNum + 1, sizeof(int*))  4 
B   b) arrayOfScores      4 
C   d) arrayOfScores[lapScore]     4 

 
Subquestion 2 

D   d) int scoreMinimum (int* playerPtr);   4 
E   d) rowNum       4 

 
 
Q8 
 

Subquestion 
A   f) interface      3 
B   b) extends      3 
C   d) Member      3.5 
D   c) implements      3 
E   a) Customer      3.5 
F   e) currentInvoice.getCustomer()   4 

 


